


X £ % &£ K R

B 10/ D K SEHE

50
45
40 -
ol 35
35 33
~ 30
4 30
B 24 24 24
20
15
10
5
0 . . . . . . . . .
H165 H174 H18%F H19%F H20F H21%F H22F H23%F H24%F H25%F
(%)
€¢<
R 255 KSR

WE A%, 2

T DK%, 22

BFRER A B¢

CVEER K 8¢

O F Dfthk 5¢

_26_




10FEFMORKLEN - AEBHEHESN

X 2
KK B B % B E | | %EE
EEE (FA)
a2 |w|=]|=2 % | &8
I g #MY (m) | %5 (a) . g
£ R i

Emk165FE 44 | 15 2 13 | 14 1,140 3 1 116,171
Em175%E 46 | 17 2 13 | 14 626 1 3 49,912
Emk185% 37 | 12 3 10| 12 856 6 1 2 41,797
Em195%F 30 | 14 2 6 8 267 20 4 12,106
FR20& (33|19 1] 7| 6| 619 2 4 | 34403
FTR21&E |24| 4| 2| 9| 9 6 2 4,313
FR22& |24 7| 1| 7] 9| 260 1 2 | 37,948
E23F 35 9 1 6 19 742 4 1 2 16,672
TRi24% (24| 9| 0| 8| 7| 750 0 3| 1| 56888
TR25% (40| 7| 2| 9 |22 1,300 3 1| 4| 20106

_27_




% # B =

xR

Bl

-
N

X K

t

Sw [o]-
EEE
Sm || |-
o oI ™
© m O ||
N~ O W |~
m N -
o O [ v | v
m )
m )
m o
m o <
= S|lw|w o o —|o|lo|~|o|o o|2|~ o
= rARANRN N 0 o | BE ) B | SE (R | mk | | X | & B et T
o2 m
| - (s || |
# =
B eI L CI N
&= fu J IS R " ._m IR b . . S S
X ANALAF
g o ____.ﬂﬁ h & I X
g 2 N B
aiE(N|R|E kS wE(RRE R > 2| & =

_28_




AR B X % R R

X5 ok 4 WIEER |EEE B E #®E (F H)
0

P 55 A

=.Eﬂ:§®,é,?,,m§e§ﬁ 8 & | = ;t)

stim|s|m|w| ™ | (@) |=|=|® - m | 5| m |
BBl
&5t 140| 7| 2(9(22]1,309| 3 114 2]20,106( 18,730 7 1,086 | 283
1A |5 1|4 114 114 0
28 |0
3H |3 12 300 300 0
48 (3|11 1 45 2 1 691 684 7 0
5B |5]|1 1(3] 700 111 9,601 | 9,231 136 | 234
6H | 2 2 288 288
7H | 5|3 11 6 212 296 59 234 3
8H | 8 3|5 59 14 45
9H | 3|1 2] 308 7,384 | 7,383 1
10A| 2| 1 1] 250 1,373 | 1,373 0
118 1 1 0 0
12A/| 3 1 2 1 0 0 0

_29_




H X K B #F M X ® K R

X 7 KX B 18 @ SIS
SRR ) | nm | | g | ERER
i B | m| | &

BRI 5

& Gt 40 | 7 2 9 |22 1,309 3 1 4 20,106
0o~ 1 0

1~ 2 1 1 0
2~ 3 1 1 144
3~ 4 0

4~ 5 4 1 3 308 8,031
5~ 6 0

6~ 7 0

7~ 8 2 1 1 45 828
8~ 9 1 1 0
9~10 2 1 1 250 1,473
10~11 1 1 0
11~12 7 1 1 5 1 137
12~13 4 4 45
13~14 2 2 0
14~15 4 1 1 2 2 1 18
15~16 2 2 0
16~17 3 1 2 6 61
17~18 1 1 0
18~19 0
19~20 1 1
20~21 2 2 700 2 9,231
21~22 1 1 1 136
22~23 0
23~24 1 1 0 1 2

_30_




& W W KW B X ®H - K =
H26.3.3 10%&
WER| &
T la|f | w||n|s|a m | 4§
2 2 o (W[ Bla|s | w2 x| F
& 2 |2078 [601 205 [133 | 82 |243 [132 [101 359 [102 | 30
M B |1657 505 [252 [110 | 58 |184 [102| 81 |279 | 66 | 20
50mm | 11 | 2 15 |1 1 1
75mm | 667 [196|98 |34 |18 |65 |49 |18 [129 | 48 |12
100mm | 386 |96 53 |27 |13 [48 |30 |33 [67 |15 | 4
W | &
1256mm | 9 |2 |1 1 5
150mm | 346 (127 |61 |10 |20 (40 |22 |25 [35 | 3 | 3
K|E
200mm | 86 |34 |8 2 | 8 5 |29
250mm | 42 19 | 5 |13 5
7 =
300mm | 50 [ 9 |11 |25 5
350mm | 29 |11 |10 8
400mm | 21 | 4 |5 12
450mm 10 5 5
M B | 421 96 |43 |23 |24 |59 [30 |20 |80 |36 |10
20nik® | 34 |4 |5 |2 3 |s 2|78
i]
w |2 2908521 100 |14 |3 |7 |6 [15]8 |6 |23 |14 4
K|n| 40l E~
B oo Ama | 278 [ 69 |34 |14 |18 |41 |19 |12 [47 |14 |5
B leomme~[ 5 |, 1 1
100 ik
100uBIE| 7 |4 |1 2

_31_




AR W # B B & & % BH ¥ =®

SEiE 2 AR
a8 =] = R 4 %
A B
&t 103 18 52 30 3
4R 4 4
5H 5 5
68 5 3 2
78 1 1
8 A 4 1 2 1
9H 12 4 7 1
10AH 20 5 4 10 1
118 24 3 12 9
12A 9 1 4 3 1
18 3 1 1 1
2 A 9 6 3
38 7 2 4 1

_32_



